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Topic:- Child Development & Pedagogy (CDP)

learners. / 3T B weme | 3ra Ryanfay o1

1) Today’s classrooms now welcome

TR g 8l
1. Talented / UTTHTRITGH

2. Diverse / fafd¥y
3. Gifted / TfTHTRTEA
4. Special need / fafRy sevade

Correct Answer :-

. Diverse / [afdy

2) Short term deficit of sleep affects learners by: / T-ﬁ'q' B T HH ﬁT&‘ITfﬁ*ﬂ 3|
TR B ¢ -

1. increase in weight/ aui H q@

2. increasing the risk of diabetes/ mﬁl’s‘ DGR de-l

3. weakening immunity/ HHCIR TfoRe

4, reducing concentration and memory/ UhTUd] 3R @ﬂ%[ DI HH DA

Correct Answer :-

« reducing concentration and memory/ U TUdT 3R F—Iﬁ DI HH HAT

3) Inequality in education has been reduced in India due to: / HR<d o Rrem o srywean
e dd PasRUFAE TS &

1. Religious intervention/ eftfn Eﬂﬁa'q
2. Social Reforms/ JHIST JUR
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3. Constitutional provisions/ HauTHe grae™
4, Cultural diversity/ Wﬁﬁ? fafderan

Correct Answer :-

« Constitutional provisions/ HaYTfe urgy™

4) NIOS is an example of agency of education. /'Qq&ﬂ'stx?rﬁw, Rrem ot
TNt BT TP ST T B

1. non formal / ﬁT—GﬁWﬁfﬁ
2. formal / GﬁWRTf

3. NGO / Usitaft
4, informal / 3FIYRTRG

Correct Answer :-

« non formal / ﬁ"\f-aﬁuaﬂia?

5) What are the family and community resources that children can draw upon collectively
called? / TR TIRETR® 3R IGIRI® FH1U= &1 8, o W) o= 9rife® U & eneifa
§ P 82

1. Membership capital / TE&IT Yol
2. Structural capital / TRITHD Q\Gﬁ
3. Fiscal capital / RSEARIE) Uﬁﬂ
4, Social capital / BIEECE qyrﬁ

Correct Answer :-

« Social capital / SIEIEED Ujrﬁ

6) What are the ways to engage students in problem-solving strategies & extend their
thinking? / AT B A P 0! § BT B HaT 1 3R 376! T° B1 M
o & WP AT E?

1. Use of concept formation, inquiry & synectics / SIIYURUIN S, Y dlS 3R RT3} T
JUINT

2. Addressing questions again & again/ JR-dR UH DI G HAT

3. Talking to friends nicely/ QI Y 3% I d1d HRAT
4. Giving them extra homework / 378 3{fRad H&AT BT 1
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Correct Answer :-

+ Use of concept formation, inquiry & synectics / SIGURUIT TS, YT 3R SrRaT3} T

7) What type of reasoning is characterized by moving from the general to the particular? /

T fIRIP 3t 3R 9ed 8¢ [y UoR & ad & faxivar garg It 82

1. Transductive reasoning / UIRT[H LY (gi{-lsolgi?id EIEL)

2. Inductive reasoning / SITHATHD LCY (3%\%33 NS
3. Deductive reasoning / frfAreTs adb (%@1383 SRR )}

4. Hypothetical reasoning / HTd<h cUTHD GCY (B'I_&'Tﬁaﬁw NEIEH)

Correct Answer :-

« Deductive reasoning / (RIS db (IT’SSTG?CCI NS

8) What is the part of memory that stores information that one is not consciously aware of? /
Tfa BT a8 B AT YN &, St 3=l GEAT TULHd HRdl § ot Jad =0 A AFHRI T}
Tl 82

1. Dual memory / argdt @-—iﬁf

2. Explicit memory / ¥U¥ F:,_ﬂ%[

3. Implicit memory / Sfaffea F:lﬁf
4, Conscious memory / §US @ﬂ?{

Correct Answer :-

« Implicit memory / faffea Wﬁf

9) What is the phenomenon wherein previous exposure to a word or concept makes later

recollection easier? / 98 He~1T & & Forad =il 2reg a1 WWI'I’%‘FF'B[W'& 3 A
1 1 VIR SR 51 141 52

1. Priming / EIT&T&FT

2. Deriving / @qﬁ'l

3. Subliminal perception / 3l UIEf ol
4, Subconscious memory / NCERE F{ﬁl

Correct Answer :-

 Priming / PIHE
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10) Children are asked to narrate a story during the administration of which test? / foa

e & WA b SR Tl DY Pt M & 7Y BT Sram 82
1. Children’s Apperception Test (CAT) / STA-3aare TRIefor @Q_a)

2. Minnesota Multiphasic Personality Inventory (MMPI) / [EERI R S CARE | gda

3. Wechsler’s Intelligence Scale for Children (WISC) / 9TReR Scfeloic Thdl BiX [oesH]

(SYSMTE)
4, Thematic Apperception Test (TAT) / favg-sTeErae Wierr (due )

Correct Answer :-

« Children’s Apperception Test (CAT) / ST-3aare GRIefor (@'Q_Cpf)

11) Learner autonomy is a characteristic of: / fQT&‘IT Sf T fog &t fagiaar %?
1. Formal education / 30T fR1eM

2. Traditional education / TRURS fRr&f

3. Progressive education / gTferRite fRen

4. Inclusive education / JHTARIY TRI&T

Correct Answer :-

« Progressive education / JFTIQRITel FRI&T

12) Raven’s Progressive Matrices Test measures: / I3 &1 URifE 'aﬁ'\‘l ¥ HIUCT &:

1. Intelligence / §@
2. Personality / i

3. Attitude / TG

4, Motivation / OR0TT

Correct Answer :-

« Intelligence / Tg'f?s{

13) According to Piaget, children’s development is progressing through 4 stages. /

Tl & SER, Tl & fa®Ta 4 TR & ATeaw | WIf HR BT
1. Physical/ Hifd®
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2. Emotional / HIdIHP
3. Functional / BIATQH®

4, Cognitive/ SMTH®
Correct Answer :-

« Cognitive/ TIMTH®

14) Many people who were alive at that time remember exactly where they were and what
they were doing when they heard that Rajiv Gandhi was assassinated. What type of memory

is displayed here?/ﬁ'm\?ﬁwmwa'\ﬂ??ﬁ Q%mﬂamiﬁﬁmméﬁé
zﬂﬁﬁﬁ%%ﬁm@m%%%ﬁﬁaﬁﬁww@ﬁ | TT fohsy TR Bt Jfa

1. Flashbulb memory / Uﬁ?ﬂﬁ Fﬂﬁ
2. Declarative memory / EILIIEECY @{ﬁf

3. Sensory memory / Hdal Fﬂﬁf
4, Semantic memory / 3{ T F{ﬁ'l

Correct Answer :-

+ Flashbulb memory / Uja‘iﬁr Fﬂﬁ[

15) Learners are not included under “Exceptional Category”. / ﬁT&I’I’f'\d’&f

&1 " SuaTereH® At & aieta 2nfirer 18Y o S|
1. Normal / GTRUT (FATH)

2. Retarded / i (RTICS)

3. Gifted / FfqHTRITE (RTUCS)

4. Slow / W ()

Correct Answer :-

« Normal / HIYRUT (:T\Iﬁfl-FD

16) If a learner has difficulty in reading, then what type of learning disability? / Uﬁ' Udh

Rramff &Y yed § Hf3=E It 8, Y S 5 U R &Y SIfRRTT srarear 22
1. Dysgraphia / f$guTithar

2. None of these / 375 ¥ B g

3. Dyslexia / fS@ifaTaT
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4, Dyscalculia / %@v_vﬁlﬂﬁf\?ﬂ

Correct Answer :-

 Dyslexia/ fEifaaan

17) An infant takes time to distinguish the father from other men. This aspect of
development happens because of the following principle. / ¥ '&I’E{[ 3 fuar &1 s w T
3R XA | T 1 ¢ | Faw 31 95 et fHu Risia & sRurgan g

1. Whole to Part / E[Ufﬁ 3

2. Centre to Periphery / dg 9 uRfY

3. Part to Whole / W@@f

4. General to Specific / JH ¥ faRy

Correct Answer :-

+ General to Specific / ITHY ¥ fafdy

18) The famous physiologist whose work on classical conditioning influenced the field of

child psychology is: / U IRR- ﬁﬂﬂﬁﬁﬂ:ﬂ Wﬂm WWW
(FTRIPd HSIT) UR fFar a1 1 91 AN & &89 &) yHIfad $arg, 9

1. Edward Thorndike / TSd8 UTiSISh
2. Wolfgang Kohler / T BIgTR
3. Jean Piaget / ST foarst

4, Ivan Pavlov / sa'FrtnaFﬁa

Correct Answer :-

« Tvan Pavlov /3 UIgag

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws

of learning? / HETAd “UH YWl b 91 3P JwardT e g 17 Sferm & fora fFraw
TR AN g1 872

1. Law of exercise /3% & g9
2. Law of readiness / dcUxdT & fgm
3. Law of effect / THTd & 1aH

4. Law of success /0hardl o aH

Correct Answer :-
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. Law of effect / THTd & FgH

20) The characteristic of behavioral objective is: / AGEIND 3%5{5[ CIRCRICIRE
1. None of above / dqf;‘l:dd =k Ob.\lé :lTép[

2, Observable and measurable / AT 3R GRAT

3. Observable and Immeasurable / 3AATBAIT 3R T

4. Non-observable / TR-3fa@IG-1T

Correct Answer :-

« Observable and measurable / 3IEBAT GﬁT uRayg

21) Which of the following is a Humanistic view of motivation? / T 4 3 iR &1

HHadTaTG! TR0 T 82

1. Need for self-esteem and self fulfilment / ST B! STTIHT 3R 3T ?ﬂai
2. Beliefs, attributions for success and failure / €U, I dl hl 9 3R BT
3. Goals, expectations and self-efficacy / ¢1&d, I 3R 3T YHTEHTRET

4. Incentives, reinforcers and punishers / UFﬁ“—FL Wf 3R QU8 ¢ ardl

Correct Answer :-

- Need for self-esteem and self fulfilment / ST 1 STTIHAT 3R ST Jied

22) How many primary stages of development are present in Kohlberg’s theory on moral

dgvelopment?/%mwﬁm%mﬁﬁﬁm%ﬁmﬁmmwﬁw

g2

1.3
2.4
3.2

4.6

Correct Answer :-

« 3
23) advocated that all children have the potential to learn. / E| Glﬂ'Fﬁﬁ?l fears
oo it o= & A @Y armar B 21
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1. John Dewey /51 S:@f

2. Freud / /1S

3. Friedrich Frobel / TheReb thiad

4, Maria Montessori /Iﬂﬁ_q'f Iﬁ’%ﬂﬂ

Correct Answer :-

« Friedrich Frobel / ThSR Whiaa

24) are creative skill practice books for children for the enrichment of their

creative thinking. / T B TS G & a9 F R T FiRe 31y &
ford g1 B

1. Enrichment books / ¥H& W

2. Idea books / WW

3. Integrated books / Wﬁ W

4, Creative books / XdIHD g%dab

Correct Answer :-

« Idea books / fadR W

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: /

“URy® g9 EaT” & ARG & TG TROT H WG 9eh § -
1. Family / URAR

2. Parents / HTcl-fUaT

3. Primary caregiver / TIYH® BSEIRED

4, Teachers and peers / frefep 3R Tgura!

Correct Answer :-

« Teachers and peers / e/ iR gguTat

26) The passion for doing anything in the absence of any compulsion or reward is

/ Tt ot areaen a1 39 & JUTT B $O W HRA BT gl
1. Intrinsic motivation / ST 3MTHURTT

2. Extrinsic motivation / STHIIOI® SfHORTT
3. Achievement motivation / U URTIT
4, Level of Aspiration / 31TehI&T hT TR
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Correct Answer :-

« Intrinsic motivation / SFRTd SR

27) Which of the following is NOT a form of misconception? / fRafeRad & § &1
TS TTAd YR a1 82

1. Vernacular misconceptions/ HIGHIYT o §@{
2. Cognitive conflicted ideas / SR TR faR1ef fa=R

3. Non-scientific beliefs/ &amlr'\'lcb AR

4, Preconceived notions/ Uﬂm ICEIN

Correct Answer :-

« Cognitive conflicted ideas / FIMTED TRER foxief faarR

28) Who strives to answer such questions as well as to understand, explain
and predict behaviors that occur throughout the lifespan? / g X H ard
HIER &I U, THHH 3R UTaol H37 T 7 31 & F1Y-T1Y T ardl &
SIA19 HI ¢l 82

1. Developmental psychologists/ fa TS 1 Iailll e

2. Vygotsky theorist/ dIQJI\Io&GPnI RIgideR
3. Fraud theorist/ iﬁ@T‘cﬂl_bpf foaR®
4, Erikson theorist/ Qﬁw_'f i%@iaaﬂz

Correct Answer :-

-

. Developmental psychologists/ [d& TS HAIAR®

29) To motivate an auditory learner, the teacher should encourage him/her to

./ saur g ®1 9fva s & g, e o1 3@ Wenfed s wfee f
|

1. use reading material in small units / Bl WIBTI-T H Uo It &1 SUANT B |
2. participate in club activities and skits etc / deld ot fafaferdl 8ik e m 3 H YT o |
3. participate in discussions / o1 | Qe 8l

4. use coloured pen and highlighters while studying / UgTs dRd JHY WiF Ha 3R grRAEey @
TRANT R |

Correct Answer :-
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« participate in discussions / EEIEERICINGET

30) The effective learning as per Piaget’s theory is ./ T & fygia & SR wurd
fferTe &l

1. content acquisition / IRl Th
2. root memorization / T¢I T IQG-T
3. active learning / iehy iy

4. reading by heart / THTIAT ¥ UgI

Correct Answer :-

. active learning / TfhT SATH

Topic:- General Hindi (L1GH)

1) 919 1922 St g1 3 &A1 ST BT AT UT1 YR ST SIS BT A AT 30 AR B aRE-ag b
TR e Usd 1 30T T 7 3+ w1 QR F34 & g YR & A Dt 9gd SA-UHDT B I@T AT
R P! YAfpal & Raare a1 ot fewd Ia= ara off @ &1 T € T & Siiel U & Hiar snfearit
3R I AT BT ATH AT R I

TS F T ST & AT TEH AT wran St Wh-ardt Wt & aread | oo Aei-A Jerm wRd A1
TR 99 F 3T A STF S ATH S(U-T1 T STHTET, DT il GiRepd g Tl

ST TR Y UG HH fou T weif & SR qast:
ULT: YRA oM 1922 § | fhadT A ur?

1, QeTiorat &t

2. S BT

3. 3 BT

4, IR &1

Correct Answer :-

2) IRY e faya yu 5+,
Ugd 19 1 g ¥ 4g a;
2yt 31 Riy srafef,
R Siae &1 34 T Tt
Jad a® WX SIuw oat
ar =ftad sae T,
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T I8 T SATar-&Huf

fay-zray RR Y= Hgar 'd

T A 5 U g | faer

Rz Ree | fue s

SUa TN B Ugd: i f3r 7T usi & ST Farse:

TR ST & SR, "Uga W 01 g ¥ Ug a7 Ui w1 urard @ 2
1. THT # 0 1 gTefd HIH SHF 81 7S § |

2. L PIHT T BT IRE AU I T BT B 59 F g oA S

3. R & 79 9 & 99 ga e |

4. fUael gU AW &1 RE gaar a-|

Correct Answer :-

« it PIId HE Bt AT ST ST F U BT DI Gd H gd S G

3) IRY Tar faga yu 9,
g HiF 1 g ¥ 4g a;
Tyt 31 Riy srafifi,
W sftas &7 31 9 T
Yad AP AR Iuw wiat

I =fad srad o+,

HIT I3 g SaTal-H ol
fay-zray RR Y3 Sgar 'd
BT A1 5 U g | farar
ey Rigy W diue s
ST UL HI Ughs - T 7T usi & S qarse:
A Rigw &1 3 | g2
1. ¥qgd

2. ST

3. Qe

4, dofl

Correct Answer :-
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4) IRY Har faga yu s,

Tgd T A1 A ¥ 9g a;

3 U= &1 Ry Srafifi,

W STra=T &7 319 T T

o YA A SIUd oa!

R Iiad HEd I,

T ¥R TS SATAl-H 0T
fay-zray RR ¢ wgar &

B 9 57 uran g1 ¥ e

Rrge Rgy W diuss o

ST UL B Ugdhe - fau 7T w4l & IR 9a13¢:
UL ‘YaP-Yad I T a1 82
1, IR-dR

2. fR-4IR

3. o g

4. 899

Correct Answer :-

R

5) IRY e faga gu &,

gd 9 A1 A ¥ 9g a;

¢ vt BT Ry Saff,

X Sfta= ST 3197 7 T

o Ya WY U oa!

TR aa HEd I,

HITT ¥e g™ Sarel-$Hor
fay-=ray RR ¢ wear A

BT 1 oIet 9T g1 ¥ firen:

e Rige a¥ fuws o

ITT U= F Ugh A1 3T 7T v & IR Ia13¢:
T AW ST 1 S grar g2
1.9

2. Yiqa 9
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3.AHY
4, Biam

Correct Answer :-

6) WY Bl fage yu =,

Tgd T A1 ga ¥ g a;
3yt o1 Riy sraffra,

Y STae T 319] 7T 7!

o YA WY U o

IR =faa sad Ta-,

T IR G SATAT-HUT
fay-zray RR ¢ wgar &

T 9 5T uran g1 ¥ e

gz Rig A uws oy

ITad RIS $ UgH} 14 fRT T sl & IR a1su:
UH: a7 o7 A Jeg T 172
1. 741

2. Fdd

3. 9 aH
4. QR

Correct Answer :-

7) IRY War fage gu s+,
TG W19 AT g ¥ 9g a;

3 w1 o1 Ry sraffira,
X STraeT T 319] 7T T
Yo Jad AR dIu® o
IR Xad SiAd I,

T IR G SAQAT-H0T
fay-zey RR §F Fgar &
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RPEEGRIEIGERRT G

g Rige av fuss o

ST U= Bl Ugdh A1 3T 7T v & W 9a13¢:
U EU®’ ST gATgard 1 g2

1. R

2. 5d1dl

3, feel

o

Correct Answer :-

8) HRY War fage yu e,

Tgd 9 A1 YA ¥ 9g a;

3 U= &1 Ry Srafifi,

A Sfta= ST 319 7 Tl

Ja® Jad AY GIUw o7a!

R Iiad HAd Ia,

AT I8 g3 STell-$ 0T
fay-zray RR ¢ wgar &

BT 9 57 U g1 § e

Rrge Ry W diuss o

ST U= Pl Ugdhe A1 3T 7T U4 & 3w 9a13¢:
TR: TRY BT Fuf 2reg o 32
1. gy

2.99H

3.

4. 30

Correct Answer :-
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3 v o1 Ry Sraf¥frm,

R Sfad BT 3] T T

a® Ja® A SIUD oa!

TR 3iaa HAd I,

T ¥ g3 Saral-& ol
fay-zray RR ¢ wgar &

T A 51 uraT g3 ¥ i

e Rigw av diuw s

ST UL P Ugh A1 3T 7T v & IR Ia13¢:
TR: SN il & S 3 1 9Rom ¥ 82
1. TP I G| P! B @™ &1

2. AU D! SaTa S 1 |

3. Gl Y IWTell A Bl |

4. 71 H U S |

Correct Answer :-

. TP 9 IR B G fe@m B

10) IRY Tar figa yu e,

Tgd W AT A ¥ 9g a;

S vt &1 Rigy Sraf¥fi,

o STra=T &1 3197 7T T

P Ja® W SIUD oa!

IR 2faa sad Ta-,

T 38 g3 Saral-& ol
fay-zray RR ¢ wgar &

T -1 oIt 9T g1 o e

e R W e o

ITHE U= P Ugh A1 3T 7T v & IR Ia13¢:
WA ST ST TP 3= ATH T 81 52
1. XMdPH

2. Uldsh

3. 30T

4, sdd-
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Correct Answer :-

11) IR Herr faga yu ,

Tgd T 91 YA ¥ g a;

2y &1 Riy srafifire,

A STTae ST 3197 T T

Ja® Jad WY SUs oa!

TR 2fad HAd Ia,

T ¥ g2 Sardl-&or

fay-=ray RR ¢ wgar A

B 9 5 Ut g1 § e

Rge Rgx WY diue st

IUY R U=IIR $1 Ugh A1 3T 7T u4lf & IR 9d13¢:
US: Ygd BT Y AP ITDT [da i Ieg TAgT?2
1. 88l

2. B

3. ®3R

4, Htat

Correct Answer :-

12) IR Herr faga yu e,
g HIH AT g ¥ Jg a;

< Ut 1 Ry i,
R ST &7 3197 T T
qos Ja® AR dIu® oe!
IR 2iad HAd o,

T Y8 TS SaTdl-H o
fay-=ray RR ¢ wgar A
BT A1 oiet T g1 o e
Rrg¥ Ry | e s
m_mﬁwﬁ@muﬁ%wmz
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U=H: EUD S G TP Y ofa-T d1iee?

1. S ¢ Sordt g

2. S R MU fEpRon B IR 3R ISl e B
3. SR YRAR OYH TR SHR B U v & |
4, S TR BT G AR 3R Berd B

Correct Answer :-

o SR GR!SO R | TRY SR o e g |

13) IRY ar faga g o=,
Tgd 919 T Y ¥ g a;

< Ut 1 Ry Srufifi,
R ST T 3197 T Tt

Ja® Jad BY U oa!

AR Iiad HHEA e,

T ¥R TS SATdl-H 0
fay-zray RR ¢ ogar &

B 9 5 Ut g1 ¥ e

Rex Riey I fues s

SUY T U P UgdR -1 fau U w4l & IR Ia15T:
U U UfeRTal A a9 82
1. Had Iaq

2. Had DA

3. bad fida

4, SWRIGd Tt

Correct Answer :-

. SWRigd g4t

14) IR Her figa yu ,
Tgd M9 T Y ¥ g a;

2 worr 1 Riy sruf¥fm,
R Sia= &1 319 T T
Ja® Jad BY SIus oa!
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IR Mad i T04,

HIT Yo g3 SaTerl-$Hor

fay-=ray AR 47 wgar <A

B 9 5T U g1 ¥ e

e Rige a¥ fuss o

ST UL P Ugep 1 foU T8 ugi & IR Fa1su:
T U Ui o Sfaa fead wef ard el 82
1, Aeh o

2. 0 & UHRI

3. 4lus ¥

4, 995 9

Correct Answer :-

. dus ¥

15) IRY e faga yu =,

Tgd 9 A1 g ¥ 9g ;

¢ Ut BT Ry Sraffi,

A Sfra= &1 3197 7T T

o Jaw WY SIU® oa!

IR =faa Fad o,

HIT Yo g3 SaTerl-$Hur

fay-=ray ARy wear A

BT 9 5T uran g1 ¥ e

Rier R W e o

ST TR P Ugep e fou U vl ¥ IR Fa1su:
U= Ui &1 3 THEIwT ITHT fadH W Farsu?
1. R

2. W

3. ORI

4, T

Correct Answer :-
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16) URY T fAga ¢ =,

Tgd A9 AT g ¥ g ;

2 v &1 Riy eruff,

A sfta= &7 319 7 T

Yo YA A SIus oa!

IR <faa sad a1,

T 38 g3 Saral-& ol

fay-zray RR ¢ wgar &

BT = T urdn g1 ¥ firer:

g Rrgy W Sue o

ST UL B Ugwh e AT 7T ugl & IR Fa1gu:
TY: “a¥ Siia- BT 3] T 7T Ui &7 U1 872
1. S-S BT 3T

2. OfiF B 3w

3. SIaHT Y TG AR & Bl =1

4, IS B P 53]

Correct Answer :-

- Siia o Sfere B &4 B 51T

17) 914 1922 Bt g1 I 3T TS BT ;T AT URA A7 IS BT TATH AT| A AN BY GRG-a8 &
MR Te- USd 1 U R 7 309 W1 ¥ 1 & [T YR & GR1 B 95 S0-4HBT B @7 4T
R I9S] yHfHl & RAee a8 3 fgwd v@- ara Wt @1 A1 88 €1 AT & 3yl U= & Hrar nfeandt iR
JAP AT BT ATH AT SR A

3T & G STl & oie Tg- ard HraT et Weh-ardt Weht & Arenw | Srae Aeht-A Ferar wRd A1 W
9 W ST A 3P ST STHT UAT §F STHIAT, DT il GiRpd g 14Tl

SR TR B Ugh i foT T e & IR qarsu:
WRH: [ATH BT Ygigar 41 82

1, ¥l

2. YD

3. 30

4, IR

Correct Answer :-
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18) T 1922 W §1 39 =T S BT AT UTI YIRS M ST BT TATH ATI 3T T} B ARE-R8 &
TR A USd 1 3 IR A 30 Wi ¥ 1 & T YRS & AN Dl 95d SU-YHHT B @7 A
TR 39! YHfHal & e ds1 o1 fomd v@q ara WY @b A1 T 8 T & 31y Ue=T & Fiar Snfearsdl 3
I a1 BT A9 4T R )

3T & °- STl & ot Tg- ara prar gt Weh-ardt Wt & Arenw | S Aeht A Ferar FRd A1 W
9 I U A IAP ST SATHT YT §F STHIAT, SADT St GiRepd g 14Tl

ST TR B YgdHe Hid 3T T Ul & IR Iase:
U=: ATHT § T 1 USdT 12

1, I S

2. B AR

3. Had YHBH

4. ORI gt

Correct Answer :-

. SWRIigd g4t

19) ST 1922 Ft g1 I T SIS BT AT YTI WRA S S BT TATH YTI U= ARN B AG-0RG B
TR A USd A1 3 R A 3 Wil ¥ $1 F o1 YR & RN & 95 SA-YUHT HR @7 A
TR 370! yHferal & fEew aea @1 fierra aq ara ft & A1 T & T  3iie weRr & wiar nfeandt ik
FF AT BT AT AT R )

3¢ & T ST & da Ygq ard prar Sfearet Hh-ardt @t & Arenw A srue Aoh-1E Fern wRd A1 R
T W AT A AP S SATHR YT §F THAT, BT il GiRepd g 14Tl

ITY R TR B UG A foE e sl & SR aarsu:
T: DT 5T UHR BT TS 872

1. gferd

2. UGS

3. gauf

4, 3MTfcart

Correct Answer :-

20) 1€ 1922 Ft g1 39 AT SN &1 AR AT YRS A7 S BT TATH AT| 30 AR B dRE-av8 &
MR Te USd A1 3 I 3 3vF @i ¥ o3 & g YRa & @1 Y a5 SRI-4HST B IET AT
TR I YufHal & fRyemw deq &1 fRvra T ara ot @vr 31 U € Al A Siiy waRT & ST feardt ok
IID =T BT AT AT R I

3 P T SITEl & §iF Yg a1d P sTfearit Weh-ardt @ & arean A oruet ASAA Jerm A I R
e 3T A 3P A SATHR YT P THIT, IADT Sia+T Yipd & Tl

Iuad TR B UgHR A 3T T wel & IR Iarse:
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WA ‘PR & Har &2
1. T gar

2. TR AP TG

3. S

4, JRTH IS

Correct Answer :-

21) 919 1922 $t g1 I AT SRS &1 AR AT URA ST U BT TATH AT| YA AN DI GRE-aE &
MR Wg- USd 1 3 AR A 30+ W1 ¥ 3 & I YRa & @R &t 9gd S0-UHSBT B @7 T
TR 3! yufral & e den 31 fRwra o ara ot @ 21 3§ A A ey weRr & e snfeardt siv
IP AT BT ATH 4T FRTH A9 |

3¢ & T ST & 9 Ygd ard prar sfearet Weh-ardt @t & anead I srae ASh-IE Ferr wRd IR
T W S A AP SN SATHR YT §F STHIAT, DT il GiRpd 8t T4T|

I TR B UG A foT e sl & SR aarsu:
UL PP YR § Hgl uTe Srd 82

1. dEeTg

2. 3118 UG

3. B

4, AT

Correct Answer :-

. MY TS

22) 9Td 1922 $t g1 I &A1 SIS BT AT UTI YR 31 3RS BT TATH YUTI U= ARN B TRG-0RG &
MR Te- USd 1 3 R 7 309 W1 ¥ #31 & I YRa & @11 Y 98 SI-4HST B @7 T
TR IT@] YufHal & fRaemw deq @1 fiva @ ard ot @t A1 1 € dhT A siiy weRT & i feardt e
ISP AT BT ATH 4T R I

ST & T SITal & S YgH a1dl T SiTfearit Weh-ardt Wt & Areay A 3rust A Jern Hd A W)
9 W 3 A IAP ST STHT UAT §F STHIAT, DT Sila YRepd gt 14Tl

IUY TR B Ugeh] - 2T T weif & IR Jarsu:
W PR 5 W e gid §2

1. UUTE

2. Wt

3. A&l e

4, goIgl
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Correct Answer :-

23) 914 1922 FI 1 39 AT S &1 AR AT URA A7 S BT TATH AT| 30 AR B) aRE-av8 &
TR A TSd | 3T AR A 30 Wi ¥ 1 & T YR & AN DI 9gd S-YTDHT R @7 Y|
TR ITo] YufHal & fRyemw deq @1 a3 ara ot @ A1 ¥R € AR A Sy Wt & T afearit ek
I a1 BT ATH AT R )

TS & I SHTCl & S I8 aTal P Sfeardt Weh-ardt Wit F Areaw I St AN Ferr Ha A1 R
9 W 3 A 3P SN STHT UAT §F STHIT, SADT Sila- YRepdl & 14Tl

ITYF T B YD g AT T Ui & IR qasT:
u: Raenw 2es w12

1, fae=d

2. I&H

3. daad

4. GRS

Correct Answer :-

24) 919 1922 $t g1 I A1 SRS BT AT Y71 HRA S 3PS BT TATH YT| U AR B TG-0RG &
MR Te- USd 1 U R A 304 W1 ¥ 34 & [T YRa & GR1 B 95 S0-UHEBT B @7 4T
R I9S] yHfHal & RAee a8+ 3 fZrd v@+ ara ot &1 A1 88 €1 AT & 3y U= & ot snfeandt iR
I AT BT ATH AT R I

3T & T STTEl & S 3§ a1d BT STfearit Weh-ardt W & Areay A ot Aoht A Fern FRd AR
TE I ST A 3P T THR YT b STHT, DT Siia- Giwd g ™|

S TR B UG e AT T8 s & SR Ia1su:
TR U e # frw uf¥d=r &1 RErorgan g2
1, WA Wit o §1G

2. XA g4

3. 3Tfeprel

4, 79 ST A o

Correct Answer :-

25) 19 1922 F §1 39 AT SOSH &7 AR AT URA A7 S BT TATH AT| 30 AN B) GRE-a8 &
IATIR e Usa A1 S a3 33 w@rd R 39 & R WRA F NN B a5 SU-YHbT BT @ UT|
TR 39! ywfPpal & Raere aeq @ it vam ara ot @b &1 3 & b 2 arisr weRr & Hiar anfeandt ok
IS AT BT AH AT FRAT|

Page- 22



3¢l & T STl & o9 Yg+ ard prar Srfearet M-t @t & arerd I g Ao-E Fern wd A1 R
T A S A IAF ST SATHT YT §F STHIT, SADT il YRepl g 14Tl

I T B Ug@HR ) AT Y e & SR 9a1gu:
W= SHTfearelt fHd wed 32

1, TH UPHR & 4 Bl

2. T YDHR B YR bl

3. SIS Bl

4, GG Bl

Correct Answer :-

. S BT

26) A 1922 Ft 81 I T SUSH BT AR AUTI URA ST SHUSH BT TATH AT| 3O RN DI ARE-a8 &
MR Fe- USd 1 U IR 3 309 W1 ¥ 1 & T YRa & dR1 B 9gd SI0-UHBT B @7 YT
R I yHfHal & fQee e o1 femd T@- ara WY @t A1 T & & & Sy Uexr & Hiar Snfeardt ek
ISP =T BT ATH 4T R I

3T & °- SISl & o ¥g- ard T sfear Weh-ardt Welt & Arend | Sruet Aot Ferar Fed A1 W
T I U A IAD ST SATHY UAT §F STHIAT, SIHT Sita- GiRpd gt 14Tl

SU e T B Ugeh? A fT T sl & IR TaIsu:
TR U T il B A2

1. T P GRIgE @A & fog

2. 3T 1Y R X o forw

3. 9 T4 & fore

4, HE foam & for

Correct Answer :-

o 3T WY g HA & forw

27) 919 1922 F1 81 349 3T SN &1 AR AT URE 37 3 BT TATH 4TI 301 AR B) GRE-a8 &
AR e USd 1 3 R A 30+ a1 ¥ 3 & I YRa & dRN &t 9gd S0-4HSBT B @7 T
TR D! YRl & e agA o1 fevga wam arad ot @ &1 T € ahT A Siisy we=T & i Snfearyt ok
I AT BT AT AT SR I

TS & b= STell & ot g+ aret i Sfeardt Weh-ardt Weft & Areaw A S AN Ferar Hd AR
9 A S A 3P ST SATHT YT §F STHIAT, SDT Sila- GiRepd g 14Tl

I TR B UgHR A AT 7T s & SR ad1su:

TH: 3D YABAl & fGArE st Ua=T & i 31 Swintd 33t A2
1. 9o

2. Gyt
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3.
4. 4T

Correct Answer :-

28) 1A 1922 Pt §1 I 3T SIS BT AT AUTI URA AT U BT TATH ATI 3 ARN Bl ARE-a6 &
MR We- USd 1 U IR 7 399 W1 ¥ 1 & U YRa & GR1 B 95 S0-UHEBT B @7 4T
TR @] YHTHal & RAemw deq @1 Rva @ ard ot @1 A1 T € AR A 31y wdRT & T feardt 3w
IF =T BT ATH AT R I

3T & G- SISl & o ¥g- ard HiaT gl Weh-ardt Tt & Areny | S Aot Ferar FwRd A1 W
TS I ST A IAP ST SATHY YT §F STHIAT, SADT Sl GiRpd g 14Tl

S TR B Ugeh i fT T weii & IR IaIsu:
T: Jei-E & aread 82

1. 3T Y B Tal

2. Bad HRUIIYOT

3. $ad AR

4, SR 3R HROGIOT Gt

Correct Answer :-

o SR 3R HROTGIYOT S

29) 919 1922 P §1 39 AT SN BT AR ATI URE =7 S BT TATH AT| 301 AR B GRE-av8 &
JATIR e Usa A1 3 ArET A 3a w@rd R 31 b RIT HRd F N B agd SU-UHBT B @ AT
TR AP YHBA F fare aeq @1 fevrd vam ara ot @i 31 T € adh A Sris weRr & i nfeary iR
JTP AAdT BT A9 AT SR I

T8 & - STl & S g aral T st Weht-ardt Wt F Areaw I sraeht AN Ferar wd IR
E I ST A 3P S PR YT b STHMET, DT Sia- Gipd g Tl

I TR B Ugdhe - 3T 1T uyl & IR da1se:

TH: MR | S 1 6 gt 2
1. 3%
2.9
3. 907
4.9

Correct Answer :-
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30) 91 1922 B1 1 I AT SIS BT AR UTI WIRA =0 SFSH BT T AT 37U W11 D TRE-aXe P AR HeA
s &1 AW W A 3R W @ B & T YRa & Al B 989 S-UUDT B I@T AT W D! eafaar
P e aeq I fitwa vam are ot @T A1 T2 € A A Srisr U b HiaT snfearil $NR Id A1 BT A T SR

XTI |

TS & = STl & o9 g a1 Hran snfeandt Wh-ardt Wt & arenw F it AN Fermr FRA I W EE F
SR A IS dI ATHR YT &P ST, IADT Sila- giRed gt 1Tl

I TR B UgHR A 3T T ul F IR Iarse:
w: Tard &1 e e ghm?

1. Haast

2. 31ff

3, fauef

4, AT

Correct Answer :-

o R

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How can we identify a dwarf spheroidal galaxy?

1. By their small size and low luminosity

2. By their distance from the milky way

3. By their difference in luminosity and temperature compared to the milky way

4, By using the Hubble telescope

Correct Answer :-
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o By their small size and low luminosity

2) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

How did the astronomers discover this galaxy?

1. By observing a cluster of stars that had a different brightness and temperature
2. By observing these stars were millions of light years more distant

3. By looking for it

4, By studying white dwarf stars

Correct Answer :-

e By observing a cluster of stars that had a different brightness and temperature

3) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, itis
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.
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How distant is Bedin I?
1. 30 million light years
2. 100000 light years

3. 6752 light years

4, 3000 light years

Correct Answer :-

e 30 million light years

4) Read the passage carefully and answer the question given below:

Using the Hubble telescope a new galaxy has been discovered near the Milky Way. This galaxy is
merely 30 million light years away from our planet and has been nicknamed Bedin I. 3000 light
years at its greatest extent, it is only a fraction of the size of the Milky way. Not only tiny, it is
also incredibly faint.

Bedin I was accidentally discovered due to this difference in the luminosity and temperature of
its stars. The team was studying white dwarf stars within the globular cluster NGC 6752 of the
milky way galaxy, when they observed a compact collection of stars in the outer fringes of the
area. Careful analysis of their brightness and temperature revealed they did not belong to the
milky way, but rather were millions of light years more distant.

Based on these observations, astronomers have classified the galaxy as a dwarf spheroidal
galaxy. These galaxies are defined by their small size, low luminosity, lack of dust and old stellar
populations.

What is the name of the newly discovered galaxy?
1. Milky Way

2. Bedin |

3. Dwarf Spheroidal Galaxy

4. NGC 6752

Correct Answer :-

e Bedinl

5) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,
For the dogs are fierce and wild,
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And clubs and hoses, guns and jails
Aren't good for a little child."

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What do you infer from the line “for the dogs are fierce and wild"?
1. That dogs may shoot at the participants of the march

2. That the dogs are not peace loving

3. That the dogs will bite all who march

4, That there are people who are like dogs and are dangerous

Correct Answer :-

e That there are people who are like dogs and are dangerous

6) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the permission being asked for?
1. To go out on a trip with friends

2. To find a singing school

3. To go to church

4, To participate in a freedom march

Correct Answer :-
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e To participate in a freedom march

7) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire

What is the mother’s worry?

1. That Birmingham was too far to travel
2. That there won’t be others in the march
3. That the march would be tiresome

4, That there will be violence and shooting

Correct Answer :-

e That there will be violence and shooting

8) Read the below extract from a poem and answer the question that follow:

"Mother dear, may I go downtown
Instead of out to play,

And march the streets of Birmingham
In a Freedom March today?"

"No, baby, no, you may not go,

For the dogs are fierce and wild,
And clubs and hoses, guns and jails
Aren't good for a little child."

"But, mother, I won't be alone.

Other children will go with me,

And march the streets of Birmingham
To make our country free."

"No, baby, no, you may not go,
For I fear those guns will fire
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Who are the two people in this conversation?
1. Other children and the poet

2. The poet and the child

3. A child and its mother

4. A child and her friend

Correct Answer :-

¢ A child and its mother

9) Fill in the blank with the correct option in the given sentence:

The weather condition in a desertis usually ______ arid.
1. extensively

2. extraneously

3. extreme

4, extremely

Correct Answer :-
o extremely

10) Which of the following options best combines the two given sentences?

They had finished their dinner. They went to bed.

1. As soon as they had finished their dinner, they went to bed.
2. No sooner they finish their dinner they went to bed.

3. No sooner did they finish their dinner then they went to bed.

4, Before finishing their dinner they went to bed.

Correct Answer :-
« As soon as they had finished their dinner, they went to bed.

11) Choose appropriate articles for the given sentence:

heavy rainfall last week was disaster to crops that were already in dismal state.
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1. No article required, an, no article required
2. no article required, a, the
3. The, a, a

4. The, no article required, the

Correct Answer :-
¢ The, a, a

12) Choose the appropriate option that rewrites the given sentence in its active voice.
The plants are being watered by the gardener.

1. The gardener is watering the plants.

2. The gardener was watering the plants.

3. The gardener has watered the plants.

4. Gardener waters the plants.

Correct Answer :-
o The gardener is watering the plants.

13) Choose the appropriate synonym for the highlighted word in the given sentence.

The fashion of colouring hair has become very ephemeral.
1, transient

2. indestructible

3. imperishable

4, permanent

Correct Answer :-

e transient

14) Choose the appropriate tense to fill in the blank in the given sentence:
I am sure he after his parents, if he rich.

1. will look, becomes

2. is looking, became

3. looks, becomes

4, would look, was becoming
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Correct Answer :-

o will look, becomes

15) Choose the appropriate antonym for the highlighted word in the given sentence.

It was an inconsiderate act on his part to throw his aged parents out of his house.
1. thoughtful

2. insensitive

3. hurtful

4, boorish

Correct Answer :-
« thoughtful

16) Choose the appropriate pronouns for the given sentence:

Let_  make the Earth pollution freeas ____ planetis
1. us, this, ours

2. them, our, his

3. me, their, mine

4. me, that, ours

Correct Answer :-
e us, this, ours
17) Choose the appropriate prepositions for the given sentence:

When I fell the river, I had to swim the river to rescue myself the
water flow.

1. into, across, from
2. onto, upon, into
3.in, upon, along

4, into, over, with

Correct Answer :-

* into, across, from
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18) Choose the appropriate conjunction for the given sentence.

The boy is intelligent also very talented.
1. or

2. but

3. and

4, yet

Correct Answer :-

e and

19) Choose an appropriate modal for the given sentence:

It is nearly four o’clock.The children be home by now.
1. could

2. will

3. shall

4., can

Correct Answer :-
o will

20) Choose the option that best explains the highlighted expression:
Let there be no bad blood between the two royal families.

1. villainous souls

2. ill feelings

3. difference of opinion

4, illegitimate children

Correct Answer :-

« ill feelings

21) Choose the option that best explains the highlighted expression:

After having lost all his money he was back to square one.
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1. was on the streets
2. had to start all over again
3. began begging

4, turned to his family for support

Correct Answer :-
¢ had to start all over again

22) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, ‘Bravo! You have done very well.’

1. The teacher wished us saying that we had done very well.

2. The teacher reprimanded us saying that we had done very well.
3. The teacher warned us saying that we had done very well.

4, The teacher applauded us saying that we had done very well.

Correct Answer :-
e The teacher applauded us saying that we had done very well.

23) Choose the option that substitutes the given phrase appropriately.

A person who stands by but does not take part in an event
1. Audience
2. Bystander
3. Passer by

4. Spectator

Correct Answer :-

e Bystander

24) Choose the most appropriate determiner from the options given below.

shoes are under the bed.

1. Blue

2. Your
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3. Yours

4, Torn

Correct Answer :-
e Your

25) Read the sentence carefully and choose the option that has an error in it:

When the limestone just below the ground surface dissolves, the lands collapses and form ponds.
1. just below the ground surface dissolves,

2. the lands collapses

3. When the limestone

4. and form ponds.

Correct Answer :-
e the lands collapses

26) Fill in the blank with the correct option in the given sentence:

You are --efficient to do this work.
1. mis—-

2. non--

3.in--

4, un--

Correct Answer :-

27) Fillin the blank with the correct option in the given sentence :

A person well-versed in the practice of speaking with no lip movement is called a ventriloqu--.

1, —-ism
2. -al
3. --itive
4, --ist
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Correct Answer :-

o --ist

28) Fill in the blank with the most appropriate preposition from the options given.
Smallpox has been eradicated India.

1. in

2.0n

3. for

4, at

Correct Answer :-

29) Change the given statement to indirect speech.

Tom: “I’ll be there at eight. Is that all right?”

1. Tom said that he would be there at eight and he checked if it was all right.
2. Tom said that he will be there at eight and asked if it was all right.

3. Tom told that he would be there at eight. And asked if it is all right.

4. Tom said he will there at eight and asked if that is all right.

Correct Answer :-
» Tom said that he would be there at eight and he checked if it was all right.

30) Choose the right tag:

Dogs love meat, ?
1. aren't they

2. are they

3. do they

4, don't they

Correct Answer :-

e don't they

Topic:- Social Science (SSC)
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1) Who is the political head of Cabinet secretariat? / Ttsa ARGTaTd T I aP YA B g2
1. Prime Minister / GUTTHAT

2. Secretary / gfd
3. Cabinet Secretary / HAHed g
4. Cabinet Minister / Bfa-c Tt

Correct Answer :-

« Prime Minister / THTTHAT

2) What is also called as the ‘Hare system’? / ‘89% UG’ &I 3R T BT ST 82

1. List System / ?ﬁﬂ (%IR) PN}
2. Alternative Vote System / b die gure

3. Category Based System / Ioft (HeTRY) SHeTRa yorat

4, Single Transferable Vote System / U] gedicR ol dic Jorel!

Correct Answer :-

« Single Transferable Vote System / U] gl die yore

3) Which is not a part of the National Action Plan on Climate Change? / ﬁﬂ? =) CaC| Sddrg

uRad wR st w1 Ao o1 R ) 82

1. National Water Mission / TI@H SNAEEE

2. National Mission on Pollution Control / ?‘I@q Uyl [BRERTRE]

3. National Mission on Sustainable Habitat / QT@“C[ BEERRIERURERIE

4, National Mission for Sustainable Agriculture / ?T@’q YR w EENE]

Correct Answer :-

« National Mission on Pollution Control / ?T@'q UgHur [BRENNERNE]
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Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat(1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

AT # Fed FL

1. el Higreld A. TGTF (1936)
2. Hiven FEEE B. I[=HIT (1928)
3. G ToIEIg C. T (1922)

4. 3@ ARSI FaeT FErg | D. 9T (1854-72)

1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-B, 3-A, 4-C
3.1-D, 2-C, 3-B, 4-A
4.3-D, 2-C, 1-A, 4-B
Correct Answer ;-

. 1-D,2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / a?'q@?ﬂﬁsﬁ
RNTBTA & SR WH-T-TF Bt Juifer & 8 oft:

1. Jahangir/@@wﬂ R
2. Humayun / Eﬂ'ﬂi
3. Babur / d[elX

4, Akbar / ShdX

Correct Answer :-

« Humayun / §Tﬂ§u

6) Active learning starts by posing questions, problems or scenario. This is best represented in:
/ |fora Rigror g, Te=mel a1 uitexa St URgd B A SRY AT 8 | SBT Gad 65T UERH

"l

1. Problem-based learning / SH&I-STYTR TATH

2. Technology-based learning / RN 1-enRa s

3. Inquiry-based learning / 3=NUI-3MTEMR SiETH
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4, Activity-based learning / TTffafel-3memfa iy

Correct Answer :-

« Inquiry-based learning / SIS0 ST S{FRTH

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to
unscientific human intervention. In which country is Aral sea located? / ‘3IRd IR’ fay =t

T 731 il # | U g S IAFIf® g sW&Y & HRU ¥ a3 I A9 81 1S B
IRTE AR 5w =1 % fRya &2

1. Kazakhstan / SoTRa%T
2. Estonia / Q@ﬁtﬂ
3. Latvia/ NIGIER]

4, Venezuela / éﬁg@n

Correct Answer :-

. Kazakhstan / BOITRIEI

8) is a system introduced by the government where the issue price of food is much
lower than the market price to enable the poor to purchase the subsidized food. / __

PR gRI I F TS TF Yol 2, Rredt Gt ard e o5t @die & fog Wil &1
H&H H o WTel Ul &1 A0 Jod 9ok geu o 9gd &4 gial 2

1. Peoples Distribution System / ST [EERURLIS]

2. Public Direct Service / HTdel-eh Ual Jal

3. Public Distribution Scheme / Qa1 fIRUT TSI
4, Public Distribution System / BICSIECACGRYRIIS

Correct Answer :-

« Public Distribution System / Tasii-e fad0T FoTet

9) vote is exercised by the speaker in the house in case of a tie where in equal

numbers of members have voted in favour or against a bill or resolution. / JHHdT (21%) I fufa

T wrafer fadasd a1 U & e Td faRiy o Tewl o JuH 6 A 09 f6ar g1 99 Te | e gRI
T P 3uaNT farar s 21

1. Absolute / FFRTe (Q&‘:ﬁ@

2. Primary / Pty
3. Relative / Jafdd
4, Casting / IBIUIRED

Page- 39



Correct Answer :-

. Casting / FUIg®

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /
frafefaa gesil/ sfigiad! ®f S-Td BTawH & AR Aol HH H HIRUT I
1. STRATATET 911 §ATHIS

2, fiia wfa=ra sraswm srigie
3. AISHA DHIRA BT PR
4. IR B! figa
1.2-3-4-1

2. 1-2-3-4

3.1-3-4-2

4, 1-3-2-4

Correct Answer :-

. 1-3-2-4

11) The Play ‘Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / o= Ef‘f:-[ e gt

IR Aed Hid-guur § gt fRUfA &1 feror foear T @:
1.Weavers/§:lw

2. Indigo Planters / e ST U]

3. Landless Labourers / “—ﬂﬁfﬂ’f II\_F@\_\;T
4. Bengali Artisans / STl PRITRI

Correct Answer :-

-\

« Indigo Planters / el &N U]

12) In which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / BELIG

Rrarsit weRT™ &) fra avf #RIST IS & U H T1sT Ug=TraT 47 UT?
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1. 1680
2. 1674

3. 1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative marketing of

agricultural produce for the benefit of farmers. / dXPR A frari s Ay F 1Y ?ﬁ' IUS & HgPRI fauur
I TgTa1 1 F IT A B YHATT B 8|

1. National Agricultural Confederation Management Fund of India Ltd. / AR T aRd B TS e
3T Sf&an ferfercs

2. National Agricultural and Commerce Management Federation of India Ltd. / ERE ] Q‘jﬁﬁlq 4] PIAY FoHe
s I 3fear fiftes

3. National Agricultural Cooperative Marketing Federation of India Ltd. / YA Wi edRd HlsfuRfed ER L
He¥eH 3t fsar faffies

4, National Agricultural Cooperative Management Federation of India Ltd. / A ThidheaRd DR Aoie
¥R 3t Sfear feftics

Correct Answer :-

» National Agricultural Cooperative Marketing Federation of India Ltd. / M T eard SIsORied Arm feT
ST I 3fear ferfics

14) Right to Education Act came into effect on ./ ﬁT&IT DT Gfmﬂ Siffras o (310§
gl

1. 1 April 2010 / 1 3@ 2010
2. 1 March 2011 / 1 | 2011
3. 1 February 2012 / 1 TRax} 2012

4. 1 May 2009 / 1 TS 2009

Correct Answer :-

« 1 April 2010 / 1 33 2010

15) is the difference between the value of a country's imports and exports for a given period.

T s orafr & for et 3w ¥ aimara ok Frafa gl & S o siaw B
1. The Balance of Economic growth / 3T fd&m &1 dga
2. The Balance of Payment / YTId 1 Y
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3. The Balance of Trade / TTUR &1 A

4. The Balance of Exchange rate / Taf<Hg & &1 g

Correct Answer :-

o The Balance of Trade / AMUR & ﬂ.ﬂﬂq

16) Rajukas appointed by king Ashoka performed the following duty? / ITSIT 3RNP GRI

frgaa vl = fafaReaa wda Fumar?
1. Revenue /X[SId

2. Religious / T

3, Military / &=

4. Judicial / TRA%

Correct Answer :-

« Judicial / T

17) MRTP stands for TR P fagawa Bl

1. Monopoly & Restrictive Trade Prohibition Act / O us m 2_6' Q-T%@'QH Udc
2. Monopoly & Restrictive Trade Pact / A Qg%@'ﬁﬁ 3_6' T

3. Monopoly & Restrictive Trade Practices Act / e Q_S'W ?\_6' fFeay Udc

4, Monopoly & Restrictive Trade Prices / EIEII]| @m ?\3 PIESE

Correct Answer :-

« Monopoly & Restrictive Trade Practices Act / BRIl Q@'m ?\T’S’ fFeay Udc

18) At which places are the cave paintings found? / [T CE] (ﬂﬁ’&q) PO RM W LY wTd
&

1. All the above / JURIeRT JH

2. Bhimbetka only / Had Hirded]

3. Badami only / ddl STGIH!
4, Ajanta only / DHad 3fSidl

Correct Answer :-

o All the above / IR g4t
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19) Ashtapradhan was the official council of: / SIFTHTT SHDI IBEgIEEg tl'ﬁ'qa YT:

1. Mughals / H‘Ial‘ﬁ
2. Marathas / TRTST3N &1

3. Afghans / (BT BT
4, Rajputs / Tlﬁl'll?ﬁ Cal

Correct Answer :-

o Marathas / RTST3N &1

20) In which among the following years, did India conduct series of nuclear tests? /

fraffea § & few ol #, WRa 3 wary wRaon 9 e w9 smafora s
1. 1998
2.1997
3. 1999

4, 1995

Correct Answer :-

« 1998

21) Who has the monopoly in issuing currency notes in India? / HIRd H Hal m) e

TR #3A § fra®T tahIfUeR 82
1, Commercial Banks / STOIYU® s
2. NABARD / AT6TS

3. Ministry of Finance / ICREEINE]
4. Reserve Bank of India / HRa1g Roid dep

Correct Answer :-

« Reserve Bank of India / HRAI iad %

22) Who was the President of the Constituent Assembly? / TRIYT FUT & 3regel Hid A2
1. K.M.Munshi / &.0H. 9=t

2. H.C.Mookerjee / T2 3. @Gﬁ

3. Dr. Rajendra Prasad / SI. NEELEIH
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4, Dr. Ambedkar / SI. 3FSSHT

Correct Answer :-

. Dr. Rajendra Prasad / SI. Yo% U4TG

23) Who gave the famous slogan “Garibi Hatao”? / "I E'ETC’rﬁ "Bl m arT fea
fean

1. Rajiv Gandhi / XTSid TTieht

2. Jayaprakash Narayan / SIIUDR IR AIRTYU]
3. Indira Gandhi / ${cxT Tt
4.V.P. Singh / o, 01, Rig

Correct Answer :-

« Indira Gandhi / 3T Tieh

24) Who is the proponent of social recitation method? / TS TR UTS UGTd BT
TRATGS DI 82

1. Max Weber / 59 dsR

2. Karl Popper / CANRYIRS

3. Auguste Comte / JHTRE B
4, Adam Wesley / USH GR|

Correct Answer :-

« Adam Wesley / USH I

25) Who was well known as Lokhitwadi? / W ?ﬁﬂ?‘%?ﬁﬁ)[ & U A ST ST U172
1. Gopal Hari Deshmukh / T Rl %&’IE[@

2. Jyotibha Phule / SIfAaT Hal

3. Ishwar Chand Vidyasagar / SR d¢ faRmarR

4, M.G. Ranade / UH. S, IATS

Correct Answer :-

+ Gopal Hari Deshmukh / T &1 -C\(-‘%Hi@l
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26) A teacher gets immediate feedback by conducting J T Rigre &

TSI GRT depTel UfagY UTed Har g1

1. programmed evaluation / CAUE R J1LQ'¢4]°P?"I

2. summative evaluation / ARTIEH HAih

3. diagnostic evaluation / ERIBE? Jeih
4. formative evaluation / FHTUTH® Teaioh

Correct Answer :-

. formative evaluation / FHTONE® Jegid

27) According to the Constitution, India is best described as a AU & SR,

YR B! G 3 ¥ w=U ¥ givfa forar T g1
1. Union of States/ I BT Y
2. Unitary State / UhTHD Y

3. Sovereign state / UY I
4, Federation / Tre<_

Correct Answer :-

« Union of States / I} T Y

28) India achieved self-sufficiency in food grains by the year L/ URGA Y

TP Trema § et Rar s1fre 1
1. 1956
2. 1986
3. 1996

4. 1976

Correct Answer :-

- 1976

29) has replaced the Planning Commission of India. / 7 YR TS

ST T RIF o R g
1. Antyodaya Anna Yojana / SfAIGg 3F AoH

2. Yojana Upay / Ao U
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3. Yojana Aayog / TISHT STNT
4. NITI Aayog / Sifcl SR

Correct Answer :-

« NITI Aayog / SIfdl 3R

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: /

fdr & fore faenfday &t siftrm ddh wfeagal a1 Fasiial B uga =T &
U H SIET ST 2|

1. Unit test / TS URTEI0]
2. Diagnostic test / AT TRie

3. Prognostic test / Uﬁﬁ?m Y&
4. Achievement test / SUCTIS TI&OT

Correct Answer :-

+ Diagnostic test / IR

31) The major objective of dramatization in the teaching of social science is: / TS

o & R1gor A e g TUiar BT W SR I HRET ST 8:
1. Comprehension / Y
2. Knowledge / T4

3. Research / 3THYUTT
4. Application / 3TaG-

Correct Answer :-
« Comprehension / Y

32) The ‘Panchsheel’ agreement was signed between ./ Gaiter '\“I'H%ﬁa LK
& A gEIER fHy Tg)

1, China and Tibet / T 3R fjead

2. Pakistan and China / OTfordT MR T
3. India and Pakistan / HRd 3R UTfer&dM
4. India and China / 4R 3R =

Correct Answer :-
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« India and China / HRd 3IR =4

33) The age of the earth according to majority opinion is: / SgHd cg SR, Gt ot 3

1. 40-50 Billion Years / 40-50 faferad oy
2. 4-5 Billion Years / 4-5 fafera au

3, 4-5 Million Years / 4-5 fAfera a9

4. 1-2 Billion Years / 1-2 fafera a9

Correct Answer :-

« 4-5 Billion Years / 4-5 fafera oo

34) The strategy that enhances student knowledge and enables them to acquire
collaboration, communication and independent learning skills and prepare for lifelong

learning is: /Wwﬁﬁwmﬁm%ﬁﬁmﬂ,Wﬁ?WWm
DS YT B 3R Srofta iR & o1 Ter sl @

1. Written assignment method / ferfaa H*—I'j,a-‘{l"i ggfd

2. Project method / ORI i

3. Practical method / Hq\l‘lld-loh LIc&lr(:l

4, Demonstration method / THTOMBOT U&'ﬁf

Correct Answer :-

« Project method / GRS Uil

35) The advantage of discussion method is: / 1 9t &1 A= ary %:
1. Emphasis on learning instead of teaching / 218701 o Fog fATH W SR
2. Emphasis on learning with lecturing / oURSI & 1Y SfITH WIIR

3. Emphasis on learning with technology / WeNfe! & 1Y AT R SR
4, Emphasis on learning with activity / PRIGAT & 1Y 3fTH TR SR

Correct Answer :-

+ Emphasis on learning instead of teaching / fRref01 & SO S R SR
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The only session of the Indian National Congress which was presided by Mahatma Gandhi

was held at : / HIRCITd IAETT BT BT THATT T [SRTHT L&A1 T Tieht = 7
g5 Sraiford fosam mar ot

1. Allahabad / Sdileldlq
2. Belgaum / CNUIE]
3. Karachi / @<=

4, Surat / {d

Correct Answer :-

« Belgaum/ CRUIES

37) The qualitative judgment of value and purpose is: / He9 3R 3’%{?&' Cad|

U FRofg giar 81
1. Evaluation / i
2. Marking / 3

3. Examination / OR1&J0T
4. Grading / Dlvicen]

Correct Answer :-

« Evaluation / eI

38) NSE stands for ./ TUHs &1 favga &4 gl

1. National Support Establishment / :IQI"IN W Q%Ei'@\cmnﬁ'c

2. National Statistical Economy / A TieRemd SHIN

3. National Statistical Enumeration / 7RIdl e Redhd i‘wjj—l?{ R0

4, National Stock Exchange / AR Wb TR

Correct Answer :-

 National Stock Exchange / ERENESICE Qﬂﬂéﬁ

39) Which is not a characteristic of formative evaluation? / @11 9t fAufureT® qedip G|
TS faiver 181 82

1. It is an integral part of learning process. / g ST BT Ulch T T U S 3T %I
2. It is generally a teacher made test. / Ug 3{H Fﬁ? TR UD ﬁ[&‘l?f aRT fAfda T qﬁ&ﬂ %I
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3. It pinpoints difficulties being faced by a weak learner. / Ug U HHIR Riemdf & e 3
qTchl HISTS DI SR Il 5|

4, It does not help in the modification of instructional strategies / g W Ul &
MY Hag 81 PRall 5 |

Correct Answer :-

« It does not help in the modification of instructional strategies / g Hﬂé’?l’l?qa; U &
TN H Fag 78] PRl o
40) Which is not a correct statement? / ﬁmﬂ k) A I dh ﬂ'&ﬁ YA =r€t %?

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / SRR Gl s I'ir

fafew S Sfgar dumt 3R fiR SR & o @) 178 <t

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / aeRT Tl ﬁﬂ{ &
fafesr ok &Y Yeam & s asT T4 T

3. Partition of Bengal took place in 1905. / SRTIcT b1 faUTSH 1905 o g3l

4. Queen Victoria took the title of Empress of India in 1876. / HERM! [daeiRar = 1876 T HRd &I
TR 1 Radre gred feba|

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / §R{X Gl ds Ii:

fafew S 3T St SR iR SRR & ot 7St 715 ot

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ dfaer

H DI T 3w o 3R HRUR P! fagiy goif Sar 82
1. 369
2.368
3.370

4,353

Correct Answer :-

« 370

42) Which of the following types of method gives priority to the individuality of the student?

/ FPrafefaa @ 3 59 yer & faft o= & Jufdaea s wyfiear 36 82
1, Learner centered / TRI&meff dfad
2. Teacher centered / 18/ SHigd
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3. Lecture centered / SRS digd
4. Subject centered / AT digd

Correct Answer :-

« Learner centered / Q[&ﬂ%ﬁm

43) Which of the following is not one of the conceptual pillars of Human Development? /

frafifea 3 &« arme e & Faie Wi § 3 we E 82
1. Sustainability / R

2. Productivity / SdTgehdl

3. Equality / JHIAT

4, Empowerment / BSEIESCRU|

Correct Answer :-

. Equality / FHMFGT

44) Which of the following learning method is most effective in social science learning? /

FrafafEa & @ o1 3t siftrry fAfY wrafe fage e o g gurdt 82
1. Learning by reading / Yo gIRI I

2. Learning by rote memorization / PSR TN GRI 3AfETH

3. Learning by doing / fohamdie ST
4. Learning by hearing / %a01 gRT 3fETH

Correct Answer :-

« Learning by doing / fohaTHcTen SffAvTH

45) Which of the Indus Valley Civilization cities had a dock? / Ri¢J UTdY |wrar ara fa
AEX HSIP UI?

1. Harappa / S WI
2. Lothal / Y

3. Alamgirpur / &HT‘I'J:ITﬂT?
4, Kalibangan / CARICKI]

Correct Answer :-

o Lothal/ NIV
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46) Which among the following is a critique of society and culture drawing from knowledge

across social science and humanities disciplines? / ﬁ'ﬂ'ﬁ"l@ﬂ =k | ﬁ?, THTTS ﬁ?ﬂ’f Gﬁ?
aHfa®! fawal § I gR1 IHTe 3R I¥pia 9t TaHien sears?

1. Marxist theory / HTeRiaTe! Rigid
2. Class theory/an Rigid
3. Critical theory / STAMIHTH®D Gl

4, Revolutionary theory / ufgd-ard! fRrgid

Correct Answer :-

« Critical theory / TS Rigid

47) Which country has presidential system and executive powers are in the hands of the

President?/m%ﬁﬁwm%ﬁ?WWW%ﬂﬁﬁ@?ﬁﬁ?
1. UK / &

2. France / To19

3. USA /Judu
4, Canada / D -TS]

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt
manner. Which technique can be used to study his/her personality traits? /

TP g1 SNl AT il 2, 98 Ge & Go TP A oaad o1 | g 8l adpar
T 1 IS Hfckicd AEIUN PT AT B b T fhd a1 BT UL fHaT &1 Thar 872

1. Projective technique / iAo il
2. Dramatization / TC® 1T TUTAR

3. Demonstration / THTUNHRUT

4. Role play / A

Correct Answer :-

« Projective technique / Ao de-ie
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Which of the following is definitely achievable in a span of one period? / fFrafafeaa 4 9 o= e u
A T 3aft & SaRTe § T g A 22

1. Ideal / 31 aai

2. Aimless / ﬁm
3. Objectives / 3%311
4, Oversight / 180T

Correct Answer :-

o Objectives / GEQZI
50) CANCELLED
What part of a tidal cycle has minimal current? / SR 9% & g U § “gAdH YURT

gleit 82

1. None ofthese/ﬁﬁ@ﬁgﬁ
2. Flood tide / SARIT 916

3. Ebb tide / HICT

4, Slack tide / G (W) URT
Correct Answer :-

. Slack tide / &I () URT

51) Who was not the leader directly involved with Khilafat movement (1919-1924)? /

T8 A P | AT 51 Siiaa(1919-1924) T TeIel &9 | 1 92 A2
1. Mohammad Igbal / H\Is“-ld Shdld
2. Mohammad Ali / HIg™E 3felt

3. Pir Ghulam Mujaddid Sarhandi / GR a gellice Sgal
4. Maulana Shaukat Al / AT Sl 3felt

Correct Answer :-

« Mohammad Igbal / HIgWHG SHaTd

52) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of
Yavanas on the bank of River Sindhu in the hands of Vasumitra? / WTI_ YRAII ATe®
HrafaeTRIEY feas forar ur, forad Rigy 7 & d¢ R agfis & 81Ul ga+i &1 R &1
I Y12
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1. Asvaghosha / Yy
2. Harsha/ B'Ef

3. Sudraka / {[gP
4. Kalidasa / PTG

Correct Answer :-

. Kalidasa/ BTG

53) Due to which of the following winds, Central Europe enjoys a warmer climate? /

Fraffea & 3 59 ga1 & FRUIL 79 U TF T STaarg $7 e Io1dT 82
1. Bergwind / STOG

2. Zonda / SIIS]

3. Foehn / Tl

4. Chinook / e

Correct Answer :-

« Foehn /T

54) Which of the following is not a high cloud? / U & ¥ FH199-T1 I I TS
FATSS) T8l 82

1. Stratus / %R d1Gd (}¢Cd)

2. Cirrostratus / J&TYH &R} STcel (ﬁlﬂ@?ﬂ)

3. Cirrus / U&TH dTd (RI9)

4. Cirrocumulus / G&TYH HUR dgd (RRIRH)

Correct Answer :-

« Stratus / &RI STGd (@\Eﬂ)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? | Frafefea

B I B JUAAT IR 91 S IGR a8 (dads IrH) 781 82

1. Sahara / H8IRT[
2. Veld / 38

3, Prairie / DRI
4. Steppe / LS|
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Correct Answer :-

« Sahara / HeRT

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? /q&ﬁ R gy TH

RIT <3[a Sreiiforare’ fow ¢ & Ry g2
1. Libya / @ilfedT

2. Sudan / JSIq

3. Congo ol

4, Nigeria/ﬂ%ﬁﬁm

Correct Answer :-

« Libya / iiferr

57) The Treaty of Bassein was signedby  on December 31, 1802 with the British. / 31

feweR, 1802 ®1 mm%wuéﬁmﬁﬂﬁ:wm&w%mwml
1. Yeshwantrao Holkar / RIGdRId S\I('chi

2. Daulatrao Shinde /EaFITﬂ'IH iﬁa
3. Ghasiram Kothwal / ITRIRTH Slddrc

4, Bajirao II / STeiR1g 11

Correct Answer :-

« Bajirao II / STeiRm@ 11

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / XTH BT

g a1 I g FafaRaa 3 9 fow arst o R g2
1. Cook Strait / $b DI @re!

2. Bering Strait / dRT &1 WISt

3. Palk Strait / UTh SIATSHEHE

4. Strait of Tebrau / TERE &I @ﬂ@f

Correct Answer :-

« Palk Strait / Yl SIAISHTHE
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E-learning in social science helps the students for: / IS fagma # $-afn o &) A A #ee
PRl g

1. Simulated learning / BT ST

2. Rote learning / 3R fTH

3. Learning by doing / m e

4. Anytime and anywhere learning / Foff off 3R Pol Ut s

Correct Answer :-

« Anytime and anywhere learning / Fft oft 3R Dol I 3ffeRTH

60) Where is Ring of Fire located? / 37 3P BRR 'éb_ﬁ'@-ﬁ %?
1. Along the coast of Antarctic Sea / 3feThfe® PR & dc & 1Y

2. Along the coast of Atlantic Ocean / 3fcdifcd HeldR & dc & 1Y
3. Along the coast of Indian Ocean / %7.‘{ HEHNR & T H Iy
4. Along the coast of Pacific Ocean / URId HERINR & d¢ & 1Y

Correct Answer :-

« Along the coast of Pacific Ocean / URId HETEINR & dc b Iy
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